

BID PACKAGE

FOR

WATER MAIN REPLACEMENT PROGRAM HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124)

ROYAL POINCIANA SEWER EXPANSION (16-7077)

PROJECT NOS.: <u>14-5124 (WTR)</u>

16-7077 (SEWER)

SUBMITTED BY: Ric-Man Construction Florida Inc

DECEMBER 2018

BID PACKAGE CONTENTS AND REQUIREMENTS

SECTION	TITLE
00030	Notice to Bidders
00100	Instructions to Bidders
00200	Cone of Silence
00300	Proposal
00301	Proposal Bid Form
00410	Approved Bid Bond
00420	Information Required from Bidders
00435	Local Preference
00495	Trench Safety Form
00500	Contract
00610	Performance Bond
00620	Payment Bond
00700	General Conditions
00800	Supplementary General Conditions
00801	Supplementary Conditions (Construction)

SUBMIT THIS COMPLETE PACKAGE AND ONE COPY WITH YOUR BID

CITY OF HOLLYWOOD

FLORIDA

CONTRACT DOCUMENTS

WATER MAIN REPLACEMENT PROGRAM HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124)

ROYAL POINCIANA SEWER EXPANSION (16-7077)

FOR

CITY OF HOLLYWOOD
DEPARTMENT OF PUBLIC UTILITIES

PROJECT NOS.: <u>14-5124 (WTR)</u> <u>16-7077 (SEWER)</u>

DECEMBER 2018





CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING AND CONSTRUCTION SERVICES DIVISION (ECSD)

SECTION 00030

NOTICE TO BIDDERS

PROJECT NAME:

WATER MAIN REPLACEMENT PROGRAM
HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN
N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124) AND
ROYAL POINCIANA SEWER EXPANSION (16-7077)

PROJECT NUMBERS: 14-5124 (WTR) & 16-7077 (SEWER)

NOTICE IS HEREBY GIVEN that the City Commission of the City of Hollywood, Florida, is advertising for sealed bids which shall be <u>submitted to the City Clerk's Office</u> (City Hall, 2600 Hollywood Blvd., Room 221) of the City of Hollywood, Florida, until 9:30 a.m., local time, February 7, 2019. On February 7, 2019 at 10:00 a.m., the bids will be opened and read publicly in the Department of Public Utilities, Engineering and Construction Services Conference Room at 1621 N. 144 Avenue, Building A, Hollywood, Florida.

A <u>mandatory</u> pre-bid conference will be held on January 10, 2019 at 9:30 a.m., at the Southern Regional Wastewater Treatment Plant, located at 1621 N. 14th Avenue Hollywood, Florida 33021, ECSD Conference Room

The Bid Package and Contract documents can be downloaded at: http://www.hollywoodfl.org/purchasing/bids pdf.asp?Department=Public+Utilities&Category.

Technical assistance shall be submitted in writing to the Project Manager, Wilhelmina Montero, P.E., wmontero@hollywoodfl.org / Clece Aurelus, P.E., caurelus@hollywoodfl.org.

Each bid must be accompanied by a Bid Security in an amount no less than ten percent (10%) of the bid amount. Said security shall be in the form of a Certified Check or Cashier's Check on a solvent National or State Bank, or a bid bond executed by the Bidder and a qualified Surety, satisfactory and payable to the City of Hollywood, Florida.

A Cone of Silence is in effect with respect to this bid. The Cone of Silence prohibits certain communications between potential vendors and the City. For further information, please refer to Section 30.15(F) of the City's Code of Ordinances.

The City of Hollywood is strongly committed to ensuring the participation of local Hollywood vendors in the procurement of goods and services. For additional information about the City's Local Preference Ordinance, visit www.hollywoodfl.org.

It will be the Bidder's sole responsibility to <u>hand-deliver</u> or <u>mail</u> his/her proposal to the City Clerk's Office at City Hall on or before the closing hour and date for the receipt of bids as noted above.

The City Commission reserves the right to reject any or all bids, to waive informalities and to accept or reject all or any part of any bid, as they may deem to be in the best interest of the City of Hollywood, Florida.

this 201 Day of December 2018

Clece Aurelus, P.E., ngineering Support Services Manager

Department of Public Utilities - ECSD

INSTRUCTIONS TO BIDDERS

1. PREPARATION OF BIDS:

Bids must be submitted on the separate and enclosed **BIDDING PACKAGE** forms, which shall be completed **by typewriter** or legibly handwritten in ink. The Bid price of each item on the form must be stated in words and numerals; in case of a conflict, words will take precedence. Where unit prices and extended totals are required, unit prices take precedence. Likewise, discrepancies between the indicated sum of any column of figures and the correct sum thereof will be resolved in favor of the correct sum.

If the Bid is made by an individual, he must sign his name therein and state his address. If the Bid is made by a firm or partnership, its name and address must be stated, as well as the name and address of each member of the firm or partnership. Bids by corporations must be signed by an authorized corporate officer (accompanied by evidence of authority to sign) and the corporate seal must be affixed and attested by the Secretary or an Assistant Secretary of the corporation. The corporate address and state of incorporation shall be shown below the signature. When the state of incorporation is other than Florida, proof of registry with Florida must be attached.

2. RECEIPT AND OPENING OF BIDS:

The separate **BIDDING PACKAGE** consisting of the PROPOSAL, PROPOSAL BID FORM, APPROVED BID BOND, TRENCH SAFETY FORM, INFORMATION REQUIRED FROM BIDDERS AND LIST OF SUBCONTRACTORS AND/OR MATERIAL SUPPLIERS shall be completed, signed and sealed as required and must be delivered in a sealed, opaque envelope, addressed to the City Clerk of Hollywood, Florida, by the time called for in the Notice to Bidders and shall be properly identified on the face thereof.

Proposals will be publicly opened and immediately read aloud at the time and place designated in the Notice to Bidders. No proposal will be considered which is not based upon these Drawings and Specifications, or which contains any letter or written memorandum qualifying the same, or which is not properly made out and signed in writing by the Bidder.

3. PRE-BID CONFERENCE:

A mandatory Pre-bid Conference will be held at the Southern Regional Wastewater Treatment Plant, Bldg A 1621 N. 14th Avenue, Hollywood, Florida 33019, ECSD Conference Room, on **January 10, 2019** at 9:30 AM. All Contractors planning to submit a bid <u>must</u> attend the meeting. A mandatory field visit will follow the pre-bid conference. All Contractors planning to submit a bid must attend the meeting.

4. CONTRACT DOCUMENTS:

The Contract Documents give the location and description of the work to be done under this Contract and estimated quantities of each item of work for which Bids are invited, the time in which the work must be completed, the amount of the Bid Guaranty, if any, and the date, time and place of the receipt and opening of the Bids.

5. EXAMINATION OF CONTRACT DOCUMENTS AND SITE:

The Bidder is required to carefully examine the site of the work and the Contract Documents for the work contemplated. It will be assumed that the Bidder has investigated and is fully informed as to the requirements of the Contract Documents, laws, ordinances, codes and any other factors which may affect the performance of the work. Failure to be so informed will not relieve a successful Bidder of his obligation to furnish all material, equipment and labor necessary to carry out the provision of the Contract Documents and to complete the contemplated work for the consideration set forth in his Bid.

6. DIMENSIONS, QUANTITIES AND SUBSURFACE INFORMATION:

Dimensions, quantities and subsurface information supplied by the City are in no way warranted to indicate true amounts or conditions. Bidders/Contractors shall neither plead misunderstanding or deception, nor make claims against the City if the actual amounts, conditions or dimensions do not conform to those stated. Any "Outside" reports made available by the Engineer are neither guaranteed as to accuracy or completeness, nor a part of the Contract Documents.

7. ADDENDA - CHANGES WHILE BIDDING:

During the Bidding period, Bidders may be furnished addenda or bulletins for additions or alterations to the Plans or Specifications which shall be included in the work covered by the Proposal.

Any prospective Bidder in doubt as to the meaning of any part of the Drawings, Specifications or other Contract Documents may submit a written request to the Engineer for an interpretation. The Bidder submitting the request will be responsible for its prompt delivery. Any interpretation of the documents will be made by an addendum and a copy of such addendum will be mailed or delivered to each prospective Bidder who has received a set of documents. The City will not be responsible for any other explanations or interpretations of the proposed documents. ALL INQUIRES MUST BE RECEIVED, IN WRITING, BY THE CITY OF HOLLYWOOD NO LATER THAN 5:00 P.M., January 17, 2019. ADDENDUM WILL BE ISSUED ON January 24, 2019.

8. BID GUARANTY:

A Bid Guaranty in the form of a Cashier's Check, Certified Check or Bid Bond executed by the Bidder and a qualified Surety in the amount of **10**% of the Bid is required for this project in accordance with the Notice to Bidders.

9. TRENCH SAFETY FORM:

The Trench Safety Form included in the Bid Documents must be completed and signed. Noncompliance with this requirement may invalidate the bid.

10. QUALIFICATIONS AND DISQUALIFICATIONS OF BIDDERS:

The Contract will be awarded only to a Bidder, who in the opinion of the Engineer, is fully qualified to undertake the work.

The City reserves the right before awarding the Contract to

require a Bidder to submit such evidence of his qualifications as it may deem necessary and may consider any available evidence of his financial status, technical qualifications and other qualifications and abilities. Any one of the following causes, among others, may be considered as sufficient justification to disqualify a Bidder and reject his Bid:

- A. Submission of more than one Bid for the same work by an individual, firm, partnership or corporation under the same or different names.
- B. Evidence of collusion.
- C. Previous participation in collusive Bidding on work for the City of Hollywood, Florida.
- D. Submission of an unbalanced Bid in which the prices Bid for some items are out of proportion to the prices Bid for other items.
- E. Lack of competency. The Engineer may declare any Bidder ineligible, at any time during the process or receiving Bids or awarding the Contract, if developments arise which, in his opinion, adversely affects the Bidder's responsibility. The Bidder will be given an opportunity, by the Engineer, to present additional evidence before final action is taken.

As part of SECTION 00420, the Bidder:

- 1. Must provide as part of their references a minimum of three (3) similar projects, as described below, performed within the last five (5) years. Resumes of individuals (especially Superintendent) performing the work must be provided. The Bidder must also state their proposed project manager by name and provide a minimum of two (2) similar projects managed by him/her with references, along with his/her resume. Each project must be under a different contract. Only Bidders including their project manager and Superintendent, with the capabilities and experience on similar projects, will be considered qualified for bid consideration. Judgment of 'similar projects' is at the sole discretion of the City and Engineer. The successful Bidder cannot replace their project manager without providing a suitable replacement, which is determined under the sole discretion of the City.
- 2. The projects must be similar in nature and size. A similar project is one which included the following successful and operational construction:
 - 1. Over 75,000 feet of water mains, varying in size from 6-inch diameter to 24-inch diameter, or larger, but must include at least 1,000 feet of 24-inch water mains.
 - 2. Ductile iron and polyvinyl chloride pipe,
 - 3. Horizontal directional drilling of water mains, 12-inches in diameter, 2,000 feet minimum, and included a crossing of the FEC railway,
 - 4. Relocation and/or Reconnection of a minimum of 300 water meters,
 - 5. Over 25,000 feet of minimum 8-inch diameter gravity mains,
 - 6. At least one submersible duplex lift station (min. 7.5 hp pump) within a building and in a residential neighborhood,
 - 7. Minimum 1,000 feet of 8-inch diameter of force mains piping,
- Shall have current or recent contract with a local municipality to perform similar work.

- 4. Must demonstrate extensive experience in public outreach and excellent customer service.
- 5. Experience with removal and reconnections to PCCP piping.
- F. Lack of responsibility as shown by past work judged by the Engineer from the standpoint of workmanship and progress.
- G. Uncompleted work for which the Bidder is committed by Contract, which is in the judgment of the Engineer, might hinder or prevent the prompt completion of work under this Contract.
- H. Being in arrears on any existing Contracts with the City, or any taxes, licenses or other monies due the City; in litigation with the City or having defaulted on a previous contract with the City.

12. LIFE AND WITHDRAWAL OF BID:

All Bids shall remain open for 90 days after the day of the Bid opening, however, the Engineer may, at his sole discretion, release any Bid and return the Bid Guaranty prior to that date. Any Bid may be modified or withdrawn prior to the time scheduled for the opening of Bids.

13. REJECTION OF IRREGULAR BIDS:

Bids will be considered irregular and may be rejected if they show omissions, alterations of form, additions not called for, conditions, limitations, unauthorized alternate Bids or other irregularities of any kind.

14. BIDDING ERRORS:

If after the opening of bids, a Bidder claims an error and requests to be relieved of the Award, or the Engineer believes that an error may have been made then, the Bidder shall present his work sheets and supplier quotations to the Engineer for verification. This information shall be presented on the same day as the bid opening or if the opening is in the afternoon then on the following business day. When the Engineer has suspected an error and requires the documents, Bidder's failure to produce them within the time specified shall make the Bidder non-responsive and thereby eligible for disqualification. Award may then be made to the next lowest responsive, responsible Bidder, or the work may be re-advertised or it may be performed by City forces, as the Commission desires.

15. AWARD OF CONTRACT:

The City Commission reserves the right to reject any or all Bids, or any part of any Bid, to waive any informality in any Bid, or to re-advertise for all or any part of the work contemplated. If Bids are found to be acceptable by the City Commission, written notice of award will be given to the lowest responsive, responsible Bidder.

16. EXECUTION OF CONTRACT:

The Bidder to whom the Contract is awarded shall, within ten days of the date of award, execute and deliver three (3) copies of the following to the Engineer.

- A. The Contract
- B. Performance and Payment Bond
- C. Evidence of required Insurance
- D. Proof of authority to execute the Contract
- E. Proof of authority to execute the Bond on behalf of the Awardee
- F. List of Subcontractors, estimated Contract Value for each and proof that such subcontractors possess all required Federal, State, County and/or municipality licenses, including but not limited to certified of competency and occupational license

The above documents must be furnished, executed and delivered before the Contract will be executed by the City. The Contract shall not be binding upon the City until it has been executed by the City and a copy of such fully executed Contract is delivered to the Contractor.

17. FAILURE TO EXECUTE CONTRACT, BID GUARANTY FORFEITED:

Should the Bidder to whom the Contract has been awarded refuse or fail to complete the requirements of Article 16 above within ten (10) days after Notice of Award, the additional time in days (including weekends) required to CORRECTLY complete the documents will be deducted, in equal amount, from the Contract Time, or the City may elect to revoke the Award. In the same manner as Article 13, the Bid Guaranty of any Bidder failing to execute the awarded Contract shall be retained by the City and the Contract awarded as the Commission desires.

18. GUARANTY OF FAITHFUL PERFORMANCE AND PAYMENT:

A Performance Bond and a Payment Bond each equal to 100 percent of the total Bid will be required of the Awardee. The Bond must be written through a company licensed to do business in the State of Florida and be rated at least "A", Class X, in the latest edition of "Best's Key Rating Guide", published by A.M. Best Company. As per Florida Statute Section 255.05, the Contractor shall be required to record the payment and performance bonds in the public records of Broward County.

19. INSURANCE:

Bidder must satisfy all insurance requirements as set forth in the Supplementary and General Conditions.

The insurance policy shall not contain any exceptions that would exclude coverage for risks that can be directly or reasonably related to the scope of goods or services in this bid/proposal. A violation of this requirement at any time during the term, or any extension thereof shall be grounds for the immediate termination of any contract entered in to pursuant to this bid/proposal. In order to show that this requirement has been met, along with an insurance declaration sheet demonstrating the existence of a valid policy of insurance meeting the requirements of this bid/proposal, the successful proposer must submit a signed statement from insurance agency of record that the full policy contains no such exception.

20. QUALIFICATIONS:

At the time of submission of the bid, Bidder must possess, and be able to provide City, any and

all required Federal, State, County and/or municipal licenses, including but not limited to certificates of competency and occupational licenses. Moreover, upon receipt of the Award of the Contract, Bidder must provide proof of valid licensing for all subcontractors and/or material suppliers hired by the Contractor as set forth in Article 16 above.

When the Bidder is a Joint Venture, in order to satisfy the construction licensing requirements one member of a Joint Venture must hold a valid state certificate as well as the appropriate county and city license. The Contractor shall be held responsible for assurance that all subcontractors and/or material suppliers hired by the Contractor have the appropriate state certificate and licenses.

21. PERMITS:

The Contractor and Subcontractors must obtain Building Permits required for all work covered under this Contract as well as any other permit required by any other regulatory agency. The Master Building Permit required by the City shall be obtained by the Contractor but paid for by the City. Any and all other permits required by the City, County, State of Florida, or any other regulatory agency shall be obtained and paid for by the Contractor.

The Contractor or Subcontractors shall also be responsible to call for all inspections as required in Section 105 (Inspections) of the latest edition of the Florida Building Code.

- END OF SECTION -



NOTICE OF IMPOSITION OF CONE OF SILENCE

On 12/20/18, the City of Hollywood, Florida Department of Public Utilities issued the following:

Project Nos. 1 4-524 (WTR) & 16-7077 (SEWER);

WATER MAIN REPLACEMENT PROGRAM
HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN
N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124) AND
ROYAL POINCIANA SEWER EXPANSION (16-7077)

<u>Project Scope</u>: The projects consist of a water main replacement project and a sewer system expansion project. The water main project consists of approximately 89,000 linear feet of existing potable water mains being replaced ranging from 4 to 24-inches from west of Federal Highway (US 1), east of North Dixie Highway and bounded by Sheridan Street, Hollywood Blvd. as well as water main stub outs, services, meter reconnections/relocations, new fire hydrants and roadway restoration as shown on the plans. The sewer expansion project consists of approximately 26,400 linear feet of sanitary gravity main ranging from 8 to 12-inches, approximately 2,800 linear feet of 8-inch force main, and the installation of a new lift station on Coolidge Street from west of Federal Highway (US1), east of North Dixie Highway and bounded by Sheridan Street Hollywood Blvd. as well as the roadway restoration as shown on the plans.

Pursuant to Section 30.15(F) of the Code of Ordinances, a Cone of Silence has been imposed on the items set forth above. The Cone of Silence will continue until the City awards or approves a contract, votes to reject all bids or responses, or otherwise takes action which ends the solicitation. If the City Commission refers the item back to the City Manager and staff for further review, the Cone of Silence shall remain in effect until an award is made, a contract is approved, or the City Commission takes any other action which ends the solicitation.

c: City Commission Office
City Manager
City Clerk (sunshine board)
Affected department(s)/office(s)

END OF SECTION

PROPOSAL

TO THE MAYOR AND COMMISSIONERS
CITY OF HOLLYWOOD, FLORIDA

Dear Mayor and Commissioners:

The undersigned, as BIDDER, hereby declares that the only person or persons interested in the Proposal as principal or principals is or are named herein and that no other person than herein mentioned has any interest in this Proposal or in the Contract to be entered into; that this Proposal is made without connection with any other person, company or parties making a Bid or Proposal; and that it is in all respects fair and in good faith without collusion or fraud.

The BIDDER further declares that he has examined the site of the Work and informed himself fully in regard to all conditions pertaining to the place where the Work is to be done; that he has examined the Drawings and Specifications for the Work and contractual documents relative thereto, including the Notice to Bidders, Instructions to Bidders, Proposal Bid Form, Form of Bid Bond, Form of Contract and Form of Performance Bond, General, Supplementary and Technical Specifications, Addenda, Drawings, and Local Preference Program, Exhibit A, and has read all of the Provisions furnished prior to the opening of bids; and that he has satisfied himself relative to the work to be performed.

The undersigned BIDDER has not divulged to, discussed or compared his bid with other bidders and has not colluded with any other BIDDER of parties to this bid whatever.

If this Proposal is accepted, the undersigned BIDDER proposes and agrees to enter into and execute the Contract with the City of Hollywood, Florida, in the form of Contract specified; of which this Proposal, Instructions to Bidders, General Specifications, Supplementary Conditions and Drawings shall be made a part for the performance of Work described therein; to furnish the necessary bond equal to one hundred (100) percent of the total Contract base bid, the said bond being in the form of a Cash Bond or Surety Bond prepared on the applicable approved bond form furnished by the CITY; to furnish all necessary materials, equipment, machinery, tools, apparatus, transportation, supervision, labor and all means necessary to construct and complete the work specified in the Proposal and Contract and called for in the Drawings and in the manner specified; to commence Work on the effective date established in the "Notice to Proceed" from the ENGINEER; and to substantially complete all Contract Work within 1095 days with final completion within 1125 days, and stated in the "Notice to Proceed" or pay liquidated damages for each calendar day in excess thereof, or such actual and consequential damages as may result therefrom, and to abide by the Local Preference Ordinance.

The BIDDER acknowledges receipt of the following addenda:

No. <u>001</u>	Dated January 24, 2019
No.002	Dated February 20, 2019
No. 003	Dated March 04, 2019
004	Dated March 11 2019

And the undersigned agrees that in case of failure on his part to execute the said Contract and the Bond within ten (10) days after being presented with the prescribed Contract forms, the check or Bid Bond accompanying his bid, and the money payable thereon, shall be paid into the funds of the City of Hollywood, Florida, otherwise, the check or Bid Bond accompanying this Proposal shall be returned to the undersigned.

Attached hereto is a certified check on the	
Bank o	of
or approved Bid Bond for the sum of	
10% of Bid Total conditions under the Instructions to Bidders and	Dollars (\$) according to the provisions therein.
behalf of the corporation and corporate of the firm shall be set forth below we authorized to sign Contracts in behalf	ame of the corporation shall be set forth below, er or officers authorized to sign Contracts on a seal; if Bidder is a partnership, the true name with the signature(s) of the partner or partners lif of the partnership; and if the Bidder is an ed below; if a partnership, the names of the
WHEN THE BIDDER IS AN INDIVIDUAL:	
	(Signature of Individual)
	(Printed Name of Individual)
	(Address)
**************************************	**************************************
	(Name of Firm)
	(Address)
	(SEAL

**************************************	******************
	(Name of Firm) A Partnership
	(Address)
	By: (SEAL) (Partner)
Name and Address of all Partners:	
************	*****
WHEN THE BIDDER IS A JOINT VENTURE:	
	(Correct Name of Corporation
	By: (SEAL) (Address)
e	(Official Title)
	As Joint Venture (Corporate Seal)
the Contract Documents.	, and authorized by the furnish materials and equipment required under
WHEN THE BIDDER IS A CORPORATION:	
	Ric-Man Construction Florida Inc (Correct Name of Corporation
	By: American Mancini

Daniel Mancini

President
(Official Title)
3100 SW 15 th ST Deerfield Beach FL
(Address of Corporation)
Organized under the laws of the State of Florida, and authorized by the law to make this bid and perform all Work and furnish materials and equipment required under the Contract Documents.
CERTIFIED COPY OF RESOLUTION OF BOARD OF DIRECTORS
Ric-Man Construction Florida Inc (Name of Corporation)
RESOLVED that <u>Daniel Mancini</u> (Person Authorized to Sign)
President of RIc-Man Construction Florida Inc (Title) (Name of Corporation)
be authorized to sign and submit the Bid or Proposal of this corporation for the following project:
CITY OF HOLLYWOOD
WATER MAIN REPLACEMENT PROGRAM HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124) AND ROYAL POINCIANA SEWER EXPANSION (16-7077)
The foregoing is a true and correct copy of the Resolution adopted by
Ric-Man Construction Florida Inc at a meeting of its Board of (Name of Corporation)
Directors held on the 11 day of January , 20 19 . By: Catalina Mancini Title: Secretary (SEAL)

- END OF SECTION -

The above Resolution MUST BE COMPLETED if the Bidder is a Corporation.

CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION SERVICES DIVISION

PROPOSAL BID FORM ADDENDUM #3

Project Name: Water Main Replacement Program - Hollywood Blvd to Sheridan St from Federal Hwy to N. 21 Avenue (14-5124) and Royal Poinciana Sewer Expansion (16-7077)

Project Nos.: 14-5124 and 16-7077

If this Proposal is accepted, the undersigned Bidder agrees to complete all work under this contract within 1095 calendar days following the issuance of the Notice to Proceed. All entries on this form must be typed or written in block form in ink.

BASE BID:

<u>No.</u>	<u>Description</u>	Qty.	<u>Unit</u>	Unit Price	<u>Total</u>
SANIT 1	TARY SEWER PAY ITEMS Mobilization, Demobilization, Bonds and Insurance	1	LS	\$384,345.44	\$384,345.44
2	Furnish & Install 8" SDR 26 PVC Sanitary Sewer Mains (0-6 FT)	1,039	LF	\$59.00	\$61,135.00
3	Furnish & Install 8" SDR 26 PVC Sanitary Sewer Mains (6-8 FT)	12,877	LF	\$57.00	\$736,531.00
4	Furnish & Install 8" SDR 26 PVC Sanitary Sewer Mains (8-10 FT)	4,795	LF	\$83.00	\$399,019,00
5	Furnish & Install 8" SDR 26 PVC Sanitary Sewer Mains (10-12 FT)	1,061	LF	\$122.00	\$128,946.00
6	Furnish & Install 12" SDR 26 PVC Sanitary Sewer Mains (6-8 FT)	351	LF	\$107.00	\$37,532.00
7	Furnish & Install 12" SDR 26 PVC Sanitary Sewer Mains (8-10 FT)	1,671	LF	\$108.00	\$180,848.00
8	Furnish & Install 12" SDR 26 PVC Sanitary Sewer Mains (10-12 FT)	1,859	LF	\$123.00	\$229,204.00
9	Furnish & Install 12" SDR 26 PVC Sanitary Sewer Mains (12-14 FT)	1,702	LF	\$146.00	\$248,593.00
10	Furnish & Install 12" SDR 26 PVC Sanitary Sewer Mains (14-16 FT)	955	LF	\$205.00	\$195,914.00
11	Furnish & Install 4-FT Diameter Manhole (0-6 FT)	15	EA	\$9,087.00	\$136,319.00
12	Furnish & Install 4-FT Diameter Manholes (6-8 FT)	43	EA	\$9,740.00	\$418,845.00
13	Furnish & Install 4-FT Diameter Manholes (8-10 FT)	16	EA	\$10,734.00	\$171,755.00
14	Furnish & Install 4-FT Diameter Manholes (10-12 FT)	11	EA	\$11,884.00	\$130,721.00
15	Furnish & Install 4-FT Diameter Manholes (12-14 FT)	4	EA	\$18,425.00	\$73,699.00
16	Furnish & Install 4-FT Diameter Manholes (14-16 FT)	6	EA	\$17,243.00	\$103,458.00
17	Furnish & Install 6" SDR 26 PVC Laterals with Cleanouts (50 LF)	343	EA	\$863.00	\$295,993.00
18	Clean and CCTV Existing Sanitary Sewer Mains	475	LF	\$34.00	\$16,369.00
19	Manhole Adjustments	4	EA	\$7,591.00	\$30,363.00
20	Seal and Coat Existing Manholes	55	VF	\$690.00	\$37,969.00
21	Place Out of Service Existing 4' Diameter Manholes	2	EA	\$9,530.00	\$19,061.00
22	Place Out of Service Existing 8" Sanitary Mains	402	LF	\$50.00	\$20,243.00
23	Place Out of Service Existing 12" Sanitary Mains	253	LF	\$75.00	\$18,961.00
24	Removal and Disposal of Existing 4' Diameter Manholes	7	EA	\$3,291.00	\$23,035.00
25	Removal and Disposal of Existing 8" Sanitary Mains	517	LF	\$43.00	\$22,140.00
26	Removal and Disposal of Existing 12" Sanitary Mains	279	LF	\$69.00	\$19,325.00
<u>FORC</u> 27	E MAIN PAY ITEMS Furnish & Install 8" DR-18 PVC Force Main	2,801	LF	\$45.50	\$127,459.00
28	Furnish & Install 8" Plug Valves with Boxes	4	EA	\$8,173.00	\$32,695.00
29	Furnish & Install 2" Air Release Valve Assemblies with Enclosures	1	EA	\$23,707.00	\$23,707.00
30	Connect to Existing Doghouse Manhole on Taft St.	1	LS	\$18,955.00	\$18,955.00
31	Connect to Existing Doghouse Manhole on McKinley St.	1	LS	\$22,780.00	\$22,780.00

CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION SERVICES DIVISION

	PROPOSAL BID FORM ADDENDUM	#3			Section 1
32	Place Out of Service Existing 4" Force Main	1,619	LF	\$20.00	\$33,228.00
33	Place Out of Service Existing 6" Force Main	1,416	LF	\$23.00	\$32,411.00
34	Remove Existing 4" Force Main	1,440	LF	\$24.00	\$34,139.00
35	Remove Existing 6" Force Main	625	LF	\$38.00	\$23,544.00
	STATION(S) PAY ITEMS				
36	Furnish & Install Coolidge St. Lift Station, Building and Complete Site	1	LS	\$1,165,200.00	\$1,165,200.00
37	Furnish & Install 6" Flow Meter Assembly	1	LS	\$51,891.00	\$51,891.00
38	Decommissioning Existing City Lift Station E-20	1	LS	\$30,586.00	\$30,586.00
39	Decommissioning Existing City Lift Station E-22	1	LS	\$29,326.00	\$29,326.00
40	Connection of Existing Private Lift Stations to New Gravity Sewer System	5	EA	\$9,438.80	\$47,194.00
<u>3ENE</u> 41	RAL PAY ITEMS (SEWER) Removal & Replacement of Sidewalk	1,628	SY	\$ 75.50	\$122,867.00
42	Removal & Replacement of Concrete Curb and/or Gutter	2,178	LF	\$38.00	\$82,937.00
43	Alley Reconstruction	18,894	SY	\$36.43	\$688,234.34
44	Remove & Replace Brick Pavers, Stamped Concrete, and Specialty Driveways	1,787	SY	\$85.00	\$151,231.00
45	Milling & Resurfacing of 1" of Asphalt Pavement	58,893	SY	\$10.06	\$592,570.40
46	Milling & Resurfacing of 1" of Asphalt Pavement within Broward County Roadways	1,066	SY	\$39.46	\$42,069.00
47	Temporary Asphalt Restoration	43,257	LF	\$27.36	\$1,183,358.
48	Furnish & Install Temporary Pavement Markings	1	LS	\$36,311.00	\$36,311.00
49	Replacement of Permanent Pavement Markings	1	LS	\$63,861.00	\$63,861.00
50	Landscaping & Tree Trimming (allowance)	1	LS	\$50,000.00	\$50,000.0
51	Maintenance of Traffic (MOT)	1	LS	\$146,679.00	\$146,679.00
52	Owner's Contingency for Wastewater System (allowance)	1	LS	\$600,000.00	\$600,000.0
53	Consideration for Indemnification	1	LS	\$5.00	\$5.0
54	Sewer System CCTV (allowance)	2,600	LF	\$2.90	\$7,540.00
55	Density Testing (allowance)	1	LS	\$50,000.00	\$50,000.0
56	FPL (allowance)	1	LS	\$50,000.00	\$50,000.0
57	Wastewater System Permits, Licenses and Fees (allowance)	1	LS	\$200,000.00	\$200,000.0
58	As-Builts and Record Drawings (By land surveyor approved by City or EOR)	1	LS	\$166,558.00	\$166,558.0
VAT	ER SYSTEM PAY ITEMS				
59	Mobilization, Demobilization, Bonds and Insurance	1	LS	\$725,142.14	\$725,142.14
60	Furnish & Install C900 - 4" PVC Water Mains	10,105	LF	\$33.50	\$338.517.50
61	Furnish & Install Class 52 - 4" DIP Water Mains	24,426	LF	\$50.00	\$1,221,300.00
62	Furnish & Install C900 - 6" PVC Water Mains	150	LF	\$105.50	\$15,825.00
63	Furnish & Install Class 52 - 6" DIP Water Mains	200	LF	\$160.00	\$32,000.00
64	Furnish & Install C900 - 8" PVC Water Mains	23,872	LF	\$41.00	\$978,752.00
65	Furnish & Install Class 52 - 8" DIP Water Mains	12,715	LF	\$56.00	\$712,040.00
66	Furnish & Install C900 - 12" PVC C900 Water Mains	2,155	LF	\$64.00	\$137,920.00
67	Furnish & Install Class 52 - 12" DIP Water Mains	500	LF	\$143.50	\$71,750.00
68	Furnish & Install Class 52 - 16" DIP Water Mains	5,891	LF	\$108.00	\$636,228.00

CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION SERVICES DIVISION

	PROPOSAL BID FORM ADDENDUM #3		9.30		
69	Furnish & Install Class 52 - 24" DIP Water Mains	4,567	LF	\$170.00	776,390.00
70	Furnish & Install 14" DR-11 HDPE Water Main (HDD)	460	LF	\$161.00	\$74,060.00
71	Furnish & Install 20" DR-11 HDPE Casing w/ 14" DR-11 HDPE Water Main Carrier (HDD) on Johnson sunder FEC Railroads		LF	\$295.00	\$159,005.00
72	Furnish & Install 20" DR-11 HDPE Casing w/ 14" DR-11 HDPE Water Main Carrier (HDD) on Taft St. ul FEC Railroads	nder 438	LF	\$304.00	\$133,152.00
73	Furnish & Install 12" DIP WM w/ 24" Steel Casing (3/8" thick) via Jack and Bore on Polk St. under FEC Railroad	187	LF	\$1,639.00	\$306,493.00
74	Furnish & Install 8" x 4" 316 Stainless Steel Tapping Sleeves and Valves	13	EΑ	\$5,624.00	\$73,112.00
75	Furnish & Install 8" x 8" 316 Stainless Steel Tapping Sleeves and Valves	13	EA	\$6,818.00	\$88,634.00
76	Furnish & Install 4" Domestic DIP Tees	26	EA	\$674.00	\$17,524.00
77	Furnish & Install 6" Domestic DIP Tees	3	EA	\$2,390.00	\$7,170.00
78	Furnish & Install 8" x 4" Domestic DIP Tees	46	EA	\$790.00	\$36,340.00
79	Furnish & Install 8" x 6" Domestic DIP Tees	58	EA	\$838.00	\$48,604.00
80	Furnish & Install 8" Domestic DIP Tees	39	EA	\$951.00	\$37,089.00
81	Furnish & Install 12" x 4" Domestic DIP Tees	3	EA	\$2,816.00	\$8,448.00
82	Furnish & Install 12" x 6" Domestic DIP Tees	2	ΕA	\$3,763.00	\$7,526.00
83	Furnish & Install 12" x 8" Domestic DIP Tees	3	EA	\$2,940.00	\$8,820.00
84	Furnish & Install 12" Domestic DIP Tees	2	EA	\$4,663.00	\$9,326.00
85	Furnish & Install 14" x 6" Domestic DIP Tees	4	EA	\$3,553.00	\$14.214.00
86	Furnish & Install 16" x 6" Domestic DIP Tees	14	EA	\$2,421.00	\$33,894.00
87	Fumish & Install 16" x 8" Domestic DIP Tees	11	EA	\$2,638.00	\$29,018.00
88	Furnish & Install 16" x 12" Domestic DIP Tees	14	EA	\$2,851.00	\$39,914.00
89	Furnish & Install 16" Domestic DIP Tees	2	EA	\$5,244.00	\$10,488.00
90	Furnish & Install 24" x 8" Domestic DIP Tees	7	EA	\$5,021.00	\$35,147.00
91	Fumish & Install 24" x 12" Domestic DIP Tees	4	EA	\$5,781.00	\$23,124.00
92	Furnish & Install 24" x 16" Domestic DIP Tees	2	EA	\$7,547.00	\$15,094.00
93	Furnish & Install 24" Domestic DiP Tees	4	EA	\$8,032.00	\$31,128.00
94	Fumish & Install 8" x 4" Domestic DIP Crosses	13	EA	\$1,307.00	\$16,991.00
95	Furnish & Install 8" x 6" Domestic DIP Crosses	2	EA	\$3,636.00	\$7,272.00
96	Furnish & Install 8" Domestic DIP Crosses	10	EA	\$1,630.00	\$16,300.00
97	Furnish & Install 12" x 8" Domestic DIP Crosses	4	EA	\$2,753.00	\$11,012.00
98	Furnish & Install 16" x 4" Domestic DIP Crosses	2	EA	\$5,335.00	\$10,670.00
99	Furnish & Install 16" x 8" Domestic DIP Crosses	5	EA	\$3,542.00	\$17,710.00
100	Furnish & Install 16" x 12" Domestic DIP Crosses	5	EA	\$4,218.00	\$21,090.00
101	Furnish & Install 16" Domestic DIP Crosses	2	EA	\$6,503.00	\$13,006.00
102	Furnish & Install 24" x 8" Domestic DIP Crosses	3	EA	\$10,135.00	\$30,405.00
103	Furnish & Install 4" Gate Valves	129	EA	\$1,061.00	\$136,869.00
104	Furnish & Install 6" Gate Valves	10	EA	\$1,704.00	\$17,040.00
105	Furnish & Install 8" Gate Valves	128	EA	\$1,615.00	\$206,720.00
106	Furnish & Install 12" Gate Valves	14	EA	\$3,123.00	\$43,722.00
107		11	EA	\$6,895.00	\$75,845.00
.07	terror a mean to care targe	• • • • • • • • • • • • • • • • • • • •		\$0,030.00	₩10,073.00

CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION SERVICES DIVISION

	PROPOSAL BID FORM ADDENDUM #	3				100
108	Fumish & Install 24* Gate Valves		13	EA	\$19,558.00	\$254,254.00
109	Fire Line Reconnections - 4"		5	EA	\$6,021.00	\$30,105.00
110	Fire Line Reconnections - 6"		5	EA	\$5,670.00	\$28,350.00
111	Fire Line Reconnections - 8"		5	EA	\$6,448.00	\$32,240.00
112	Furnish & Install Fire Hydrant Assemblies		64	EA	\$4,991.00	\$319,424.00
113	Remove Existing Fire Hydrant Assemblies		64	EA	\$859.00	\$54,976.00
114	Water Service Removal and Replacement (Up to 1") (within Right-of-Way)	6	1,058	EA	\$876.00	\$926,808.00
115	Water Service Removal and Replacement (>1") (within Right-of-Way)		77	EA	\$3,737.00	\$287,749.00
116	Water Meter Reconnection (Up to 1")	6	1,058	EA	\$324.00	\$342,792.00
117	Water Meter Reconnection (>1")		77	EA	\$587.00	\$45,199.00
118	Relocation of Existing Water Meters From Rear Easements to Front of Property		114	EA	\$2,656.00	\$302,784.00
119	Place Out of Service Existing Water Mains of Various Sizes		1	LS	\$354,123.00	\$354,123.00
120	Connection to Existing 24" PCCP with 24" DIP on Sheridan St. and N., 19th Ave.		1	LS	\$34,907.00	\$34,907.00
121	Connection to Existing 24" PCCP with 24" DIP on Sheridan St. and N. 20th Ave.		1	LS	\$32,313.00	\$32,313,00
122	Furnish & Install Backflow Preventers (various sizes) (allowance)		1	LS	\$50,000.00	\$50,000.00
123	Furnish & Install Line Stop along Existing 24" PCCP on Sheridan St. and N. 19th Ave (allowance)		2	EA	\$26,954.00	\$53,908.00
124	Furnish & Install Line Stop along Existing 24" PCCP on Sheridan St. and N. 20th Ave (allowance)		2	EA	\$26,954.00	\$53,908.00
125	Furnish & Install Line Stop along Existing 24" Cl on Hollywood Blvd (allowance)		3	EA	\$26,078.00	\$78,234.00
	RAL PAY ITEMS (WATER)					
126	Removal & Replacement of Sidewalk		1,340	SY	\$74.00	\$99,160.00
127	Removal & Replacement of Concrete Curb and/or Gutter	8	9,900	LF	\$40.50	\$400,950.00
128	Milling & Disposal of 1" of Existing Asphalt		68,474	SY	\$2,23	\$152,697.02
129	Furnish & Install 1" Asphalt Pavement		68,474	SY	\$7.62	\$521,771.88
130	Alley Reconstruction		29,695	SY	\$35.62	\$1,057,735.9
131	Remove & Replace Brick Pavers, Stamped Concrete, and Specialty Driveways		1,362	SY	\$89.50	\$121,899.00
132	Milling & Resurfacing of 1" of Asphalt Pavement within FDOT Roadways	8	1,619	SY	\$17.25	\$27,927.75
133	Milling & Resurfacing of 1" of Asphalt Pavement within Broward County Roadways		2,349	SY	\$14.24	\$33,449.76
134	Temporary Asphalt Restoration		94,901	LF	\$24.94	\$2,366,830.94
135	Furnish & Install Temporary Pavement Markings		1	LS	\$26.146.00	\$26,146,00
136	Replacement of Permanent Pavement Markings		1	LS	\$53,695.00	\$53,695.00
137	Landscaping & Tree Trimming (allowance)		1	LS	\$50,000.00	\$50,000.00

CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION SERVICES DIVISION

	PROPOSAL BID FORM ADDENDUM #3			LIGHT NO.	
138	Maintenance of Traffic (MOT) (19th Ave./Sheridan St)	1	LS	\$37,496.00	\$37,496.00
139	Maintenance of Traffic (MOT) (20th Ave./Sheridan St).	1	LS	\$37,496.00	\$37,496.00
140	Maintenance of Traffic (MOT) (Hollywood Blvd., N 19th Ave., & Tyler St.)	1	Ls	\$37,496.00	\$37,496.00
141	Maintenance of Traffic (MOT) (US1/Federal Highway)	1	LS	\$37,496.00	\$37,496.00
142	Maintenance of Traffic (MOT) (N. 21st Ave.)	1	LS	\$37,496.00	\$37,496.00
143	Maintenance of Traffic (MOT)	1	LS	\$37,496.00	\$37.496.00
144	Owner's Contingency for Water System (allowance)	1	LS	\$700,000.00	\$700,000.0
145	Consideration for Indemnification	1	LS	\$5.00	\$5.0
146	Density Testing (allowance)	1	LS	\$50,000.00	\$50,000.0
147	FPL (allowance)	1	LS	\$25,000.00	\$25,000.0
148	Water System Permits, Licenses and Fees (allowance)	1	LS	\$300,000.00	\$300,000.0
149	As-Builts and Record Drawings (By land surveyor approved by City or EOR)	1	LS	\$166.559.00	\$166,559.00
150	Brick removal, storage, protection, and reinstallation on Hollywood Blvd. and N. 19th Ave	1	LS	\$46,400.00	\$46,400.00
	BASE BID TOTAL FOR COMPLETE PROJECT			\$27,273,777	.07

Twenty Seven Million Two Hundred Seventy Three Thousand Seven Hundred Seventy Seven Dollars and Seven Notes: Cents

- 1. SUBSTANTIAL COMPLETION TIME AND PROJECT CLOSEOUT TIME FOR THE CONTRACT SHALL BE AS DEFINED IN THE PROJECT SCHEDULE IN
- 2. QUANTITIES PROVIDED ARE FOR INFORMATION PURPOSES. FULL DESCRIPTION OF THE PAY ITEMS ARE PROVIDED IN SECTION 01025 "BASIS OF PAYMENT"

APPROVED BID BOND

(Construction)

STATE OF FLORIDA

KNOW ALL MEN BY THESE PRESENT That we Ric-Man Construction Florid		, as Principal, and Western	Surety Company as
Surety, are held and firmly bound unto th	ne City of Holl	ywood in the sum of	
ten percent of the bid amount	Dollars (\$	10% of bid amount) lawful money
of the United States, amounting to 10%	of the total E	Bid Price, for the paymen	t of said sum, we
bind ourselves, our heirs, executors, adr	ministrators, a	and successors, jointly an	d severally, firmly
by these presents.			
THE CONDITION OF THIS OBLIGATION	ON IS SUCH,	that whereas the princip	oal has submitted
the accompanying bid, dated	February 28		20 <u>19</u> for

WATER MAIN REPLACEMENT PROGRAM HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124) AND ROYAL POINCIANA SEWER EXPANSION (16-7077)

NOW, THEREFORE, if the principal shall not withdraw said bid within 90 days after date of the same and shall within ten days after the prescribed forms are presented to him for signature, enter into a written contract with the CITY, in accordance with the bid as accepted, and give bond with good and sufficient surety or sureties, and provide the necessary Insurance Certificates as may be required for the faithful performance and proper fulfillment of such Contract, then this obligation shall be null and void.

In the event of the withdrawal of said bid within the specified period, or the failure to enter into such contract and give such bond and insurance within the specified time, the principal and the surety shall pay to the City of Hollywood the difference between the amount specified in said bid and such larger amount for which the City of Hollywood may in good faith contract with another party to perform the work and/or supply the materials covered by said bid.

IN VVITNESS VVNEREOF, the above bound parties have ext	scuted this statement under their
several seals this	
day of February , 2019, the name and corp	orate seal of each corporate party
being hereto affixed and these presents duly signed by its und	ersigned representative, pursuant
to authority of its governing body.	
WHEN THE PRINCIPAL IS AN INDIVIDUAL:	
Signed, sealed and delivered in the presence of:	
Witness Signature of I	ndividual
Address	
Printed Name	e of Individual
Witness	
Address	9

WHEN THE PRINCIPAL IS A CORPORATION	<u>1</u> :
Secretary Catalina Mancini	Ric-Man Construction Florida Inc Name of Corporation
	3100 SW 15th St Business Address Deerfield Beach FL 33442
	By: (Affix Corporate Seal)
	Daniel Mancini Printed Name
	President Official Title
CERTIFICATE AS TO	CORPORATE PRINCIPAL
, Catalina Mancini Corporation named as Principal in the attached	, certify that I am the secretary of the
	ehalf of the Principal, was then President
	now his signature, and his signature thereto is
genuine and that said bond was duly signed	d, sealed and attested for and on behalf of said
Corporation by authority of its governing body.	Secretary Catalina Mancini

Secretary

TO BE EXECUTED BY CORPORATE SURETY:

Attest:	
An Alercan	Western Surety Company
Secretary Witness	Corporate Surety 150 N. Franklin St
	Business Address Chicago, IL 60 606
	BY:
	(Affix Corporate Seal) Brian Pilarski
	Attorney-in-Fact Brown & Brown of Detroit
	Name of Local Agency 35735 Mound Road
	Business Address Sterling Heights, MI 48310
STATE OF FLORIDA MICHIGAN	
_Brian Pilarski to me well know says that he is the attorney-in-fact for that the has been authorized byWe	
Subscribed and sworn to before me the	
My Commission Expires:	
MELINDA S. ANDERSON NOTARY PUBLIC - STATE OF MICHIGAN COUNTY OF ST. CLAIR My Commission Expires Sept. 29, 2020 Acting in the County of Acting in the C	- END OF SECTION -

Western Surety Company

POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That WESTERN SURETY COMPANY, a South Dakota corporation, is a duly organized and existing corporation having its principal office in the City of Sioux Falls, and State of South Dakota, and that it does by virtue of the signature and seal herein affixed hereby make, constitute and appoint

Daniel L West, Brian M Pilarski, Patrick E Kennedy, Individually

of Sterling Heights, MI, its true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on its behalf bonds, undertakings and other obligatory instruments of similar nature

- In Unlimited Amounts -

and to bind it thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of the corporation and all the acts of said Attorney, pursuant to the authority hereby given, are hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law printed on the reverse hereof, duly adopted, as indicated, by the shareholders of the corporation.

In Witness Whereof, WESTERN SURETY COMPANY has caused these presents to be signed by its Vice President and its corporate seal to be hereto affixed on this 15th day of August, 2017.



WESTERN SURETY COMPANY

Paul T. Bruflat, Vice President

State of South Dakota County of Minnehaha



On this 15th day of August, 2017, before me personally came Paul T. Bruflat, to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is the Vice President of WESTERN SURETY COMPANY described in and which executed the above instrument; that he knows the seal of said corporation; that the seal affixed to the said instrument is such corporate seal; that it was so affixed pursuant to authority given by the Board of Directors of said corporation and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said corporation.

My commission expires

June 23, 2021



J. Mohr, Notary Public

CERTIFICATE



WESTERN SURETY COMPANY

J. Nelson, Assistant Secretary

INFORMATION REQUIRED FROM BIDDERS

GENERAL INFORMATION

The Bidder shall furnish the following information. Failure to comply with this requirement may cause its rejection. Additional sheets shall be attached as required.

Contractor's Name/Address: Ric-Man Construction Florida Inc
3100 SW 15th ST Deerfield Beach, FL 33442
Contractor's Telephone Number: _954-426-1221
and e-mail address: dlacross@ric-manfl.com
Contractor's License (attach copy): CGC 1514965
Primary Classification: General Contractor
Broward County License Number (attach copy): N/A
Number of very as a Continuation in construction would of the time involved in this
Number of years as a Contractor in construction work of the type involved in this
Contract: 15 Years
List the names and titles of all officers of Contractor's firm:
Daniel Mancini - President
Edward Mancini - Vice President
Catalina Mancini - Secretary
Name of person who inspected site or proposed work for your firm:
Name: Dan LaCross
Date of Inspection: February 18, 2019
What is the last project of this nature you have completed?
Shenandoah Water Main Replacement and Service Conversions Phase A

9. wh	Name three (3) individuals or corporations for which you have performed work and to ich you refer:
4411	Nelson Cespedes Miami Dade Water and Sewer Department Nelson.Cespedes@miamidade.gov 305-607-
	Pat MacGregor Broward County Water and Waste Water Services PAMACGREGOR@broward.org 954-83
	Clece Aurelus Engineering Support Services Manager City of Hollywood CAURELUS@hollywoodfl.org 954-921-3995
	List the following information concerning all contracts on hand as of the date of bmission of this proposal (in case of co-venture, list the information for all coventures).
	Total Contracted % Name of Project City Contract Date of Completion Value Completion to Date
	Please see the attached contracts on Hand
	(Continue list on inset sheet, if necessary)
	What equipment do you own that is available for the work? Please see attached equipment list
	What equipment will you purchase for the proposed work?
	None

00420-2

LIST OF SUBCONTRACTORS

The Bidder shall list below the name and address of each Subcontractor who will perform work under this Contract in excess of one-half percent of the total bid price, and shall also list the portion of the work which will be done by such Subcontractor. After the opening of Proposals, changes or substitutions will be allowed with written approval of the City of Hollywood. Subcontractors must be properly licensed and hold a valid Hollywood Certificate of Competency.

1.	Paving	E&N Construction, Inc.
		12068 Sunset Blvd. Royal Palm Fl 33411
2.	MOT	Bob's Barricades
		921 Shotgun Road, Sunrise, FL 33326
3.	Horizontal Directional Drilling	DBE Utility Services
		13387 Brvan Rd, Loxahatchee, FL 33470
4.	Jack and Bore	Wakefield Road Boring Inc.
		1012 Woodfield Circle, Palm Gardens FL 33418
5.	Lift Station	Trio Development
		1701 NW 22nd Court Pompano Beach 33069
6.	Coatings	E & A Wilson Painting Services, LLC
		10758 NW 53rd St. Sunrise FL 33351
7.	Line Stops	EA Tapping Services, Inc
		626 Cooper Industrial Pkwy. Apopka, FL 32703
8.	Curb and Sidewalks	A&M Brothers Concrete
		95 NE 12 St. Homestead FL 33030
9.	i i	
10.		

NOTE: Attach additional sheets if required.

- END OF SECTION -

LOCAL PREFERENCE

(EXHIBIT "A")

Pursuant to §38.50 of the City of Hollywood *Code of Ordinances*, the City shall grant a preference to local Hollywood vendors if their initial bid is within 5% of the bid of the lowest responsive responsible bidder that is a non-local Hollywood vendor. The preference shall allow the local Hollywood vendor to submit a second and final offer, which must be at least 1% less than the bid of the lowest responsible responsive non-local Hollywood vendor to be awarded. The local Hollywood vendor shall have the burden of demonstrating that it maintains a permanent place of business with full-time employees within the City limits and has done so for a minimum of one (1) year prior to the date of issuance of a bid or proposal solicitation within Hollywood, Florida. All supporting documentation (e.g. City of Hollywood valid local business tax receipt) for local preference eligibility must be received with the bid package prior to the bid opening date and time.

TRENCH SAFETY FORM

This form must be completed and signed by the Bidder.

Method of Compliance

Failure to complete this form may result in the bid being declared non-responsive.

Bidder acknowledges that the Florida Trench Safety Act, Section 553.60 et. seq., which became effective October 1, 1990, shall be in effect during the period of construction of the project. The Bidder by signing and submitting the bid is, in writing, assuring that it will perform any trench excavation in accordance with applicable trench safety standards. The Bidder further identifies the following separate item of cost of compliance with the applicable trench safety standards as well as the method of compliance:

Cost

Per CFR 1926 Sub Part P Excavation	
	Total \$
Bidder acknowledges that this cost is included in total Bid Price. Failure to complete the above will re	he applicable items of the Proposal and in the Grand esult in the bid being declared non-responsive.
precautions, programs or costs, or the mean reasonableness of cost, sequences or procedures but not limited to, compliance with any and all re- cited as the "Trench Safety Act". Bidder is, and	not, responsible to review or assess Bidder's safety is, methods, techniques or technique adequacy, of any safety precaution, program or cost, including quirements of Florida Statute Section 553.60 et. seq. d the owner and Engineer are not, responsible to the project, including but not limited to, the "Trench
Safety Act" Witness Signature	Contractor's Signature
Witness Printed Name	Daniel Mancini Printed Name
Witness Address	President Title
3/12/19 Date	March 12, 2019 Date

- END OF SECTION -

CONTRACT

THIS AGREEMENT, made and entered into, thisday of, A.D.,, by and between the CITY OF HOLLYWOOD, Florida, a municipal corporation of the State of Florida, part of the first part, (hereinafter sometimes called the "CITY"), and
Contractor
party of the second part (hereinafter sometimes called the "CONTRACTOR").
WITNESSETH: The parties hereto, for the considerations herein- after set forth, mutually agree as follows:
Article 1. Scope of Work: The CONTRACTOR shall furnish all labor, materials, and equipment and perform all work in the manner and form provided by the Contract Documents, for:

WATER MAIN REPLACEMENT PROGRAM HOLLYWOOD BOULEVARD TO SHERIDAN STREET BETWEEN N. FEDERAL HIGHWAY(US-1) AND N. 21ST AVENUE (14-5124) AND ROYAL POINCIANA SEWER EXPANSION (16-7077)

Project Nos.: 14-5124 (WTR) & 16-7077 (SEWER)

<u>Article 2</u>. The Contract Sum: The CITY shall pay to the CONTRACTOR, for the faithful performance of the Contract, in lawful money of the United States of America, and subject to additions and deductions as provided in the Contract Documents, as follows:

Based upon the prices shown in the Proposal heretofore submitted to the CITY by the CONTRACTOR, a copy of said Proposal being a part of these Contract Documents, the aggregate amount of this Contract being the sum of______Dollars).

- <u>Article 3</u>. Partial and Final Payments: In accordance with the provisions fully set forth in the "General Conditions" of the "Specifications", and subject to additions and deductions as provided, the CITY shall pay the CONTRACTOR as follows:
 - (a) On the 15th day, or the first business day thereafter, of each calendar month, the CITY shall make partial payments to the CONTRACTOR on the basis of a duly certified and approved estimate of work performed during the preceding calendar month by the CONTRACTOR, less ten percent (10%) of the amount of such estimate which is to be retained by the CITY until all work has been performed strictly in accordance with this Agreement and until such work has been accepted by the CITY; provided, however, that after 50 percent (50%) completion of the work covered by this Agreement, (i) the amount retained from each subsequent progress payment shall be reduced to 5 percent (5%) and (ii) upon presentation by the CONTRATOR of a payment request for up to one-half of the retainage held by the CITY, the CITY shall promptly make payment to the CONTRACTOR. The parties' rights and obligations regarding retainage are further specified in Florida Statute Section 218.735.

00500 Contract 00500-1

(b) Upon submission by the CONTRACTOR of evidence satisfactory to the CITY that all payrolls, material bills and other costs incurred by the CONTRACTOR in connection with the construction of the WORK have been paid in full, and also, after all guarantees that may be required in the Specifications have been furnished and are found acceptable by the CITY, final payment on account of this Agreement shall be made within sixty (60) days after completion by the CONTRACTOR of all work covered by this Agreement and acceptance of such work by the ENGINEER and approved by the CITY.

Article 4. Time of Completion: The CONTRACTOR shall commence work to be performed under this Contract within ten (10) consecutive calendar days after date of written Notice To Proceed and shall fully complete the Contract in accordance within the Contract Documents and meet all intermediate milestone completion dates required after said date of written notice as set forth in the Proposal, as may be modified by Instructions to Bidders, and stated in the Notice to Proceed.

It is mutually agreed between the parties hereto, that time is the essence, and in the event that construction of the WORK is not completed within the Contract Time and per intermediate dates, as may have been modified solely in accordance with the General Conditions of this Contract, that from the compensation otherwise to be paid to the CONTRACTOR, the CITY is authorized and shall retain, for each day thereafter, Sundays and holidays included, the sum set forth in the Supplementary General Conditions of this Contract as liquidated damages sustained by the CITY in the event of such default by the CONTRACTOR, or shall withhold such compensation for actual and consequential damages as my be stated therein or contemplated therefrom.

Article 5. Additional Bond: It is further mutually agreed between the parties hereto, that if, at any time after the execution of this Agreement and the Payment and Performance Bonds required herein for the express purpose of assuring the faithful performance of the Contractor's work hereto attached, the CITY shall deem the surety or sureties' to be unsatisfactory, or, if for any reason, said bonds cease to be adequate to cover the performance of the work, the CONTRACTOR shall, at his expense, within five (5) days after receipt of notice from the CITY furnish an additional bond or bonds in such form and amount, and with such surety or sureties as shall be satisfactory to the CITY. In such event, no further payment to the CONTRACTOR shall be deemed to be due under this agreement until such new or additional security for the faithful performance of the work shall be furnished in manner and form satisfactory to the CITY.

<u>Article 6</u>. Contract Documents: All of the documents hereinafter listed form the Contract and they are as fully a part of the Contract as if hereto attached, or repeated in this Agreement:

- 1. Notice to Bidders
- 2. Instruction to Bidders
- 3. Proposal
- 4. Proposal Bid Form
- 5. Bid Bond
- 6. Information Required from Bidders
- 7 Local Preference (Exhibit "A")
- 8. Trench Safety Form

- 9. Contract
- 10. Performance Bond
- 11. Payment Bond
- 12. General Conditions
- 13. Supplementary General Conditions
- 14 Addenda
- 15. Specifications
- 16. Drawings

<u>Article 7.</u> The rate of wages and fringe benefits, or cash equivalent, for all laborers, mechanics and apprentices employed by any contractor or subcontractor on the work covered by the contract shall be not less than the prevailing rate of wages and fringe benefit payments or cash equivalent for similar skills or classifications of work as established by the General Wage Decision by the United States Department of Labor for Broward County, Florida that is in effect

prior to the date the city issues its invitation for bids. If the General Wage Decision fails to provide for a fringe benefit rate for any worker classification, then the fringe benefit rate applicable to the worker classification shall be the fringe benefit rate applicable to the worker classification with a fringe benefit rate that has a basic hourly wage closest in dollar amount to the worker classification for which no fringe benefit rate has been provided.

Article 8. No additional work or extras shall be performed unless the same be duly authorized by appropriate action of the City.

Article 9. That in the event either party brings suit for enforcement of disagreement, the prevailing party shall be entitled to attorney's fees and court costs in addition to any other remedy afforded by law.

Article 10. The Contractor shall guarantee the complete project against poor workmanship and faulty materials for a period of twelve (12) months after final payment and shall immediately correct any defects which may appear during this period upon notification by the City or the Engineer.

<u>Article 11.</u> The making and acceptance of the final payment shall constitute a waiver of all claims by the Contractor, except those previously made and still unsettled.

IN WITNESS WHEREOF the parties hereto have executed this Agreement on the day and date first above written in three (3) counterparts, each of which shall, without proof or accounting for the other counterparts, be deemed an original contract:

ATTECT.

THE CITY OF HOLLYWOOD, FLORIDA Party of the First Part

By:_(SEAL) JOSH LEVY, MAYOR

ATTEST:	
PATRICIA A. CERNY, MMC	_
City Clerk	

******	*****	******	*****	******	*********	k
CONTRAC Party		the	Second	Part		
WHEN TH	WHEN THE CONTRACTOR IS AN INDIVIDUAL:					
Signed, se	ealed a	nd deliv	ered in the	presence	e of:	
						(SEAL)
(Witness)		-			(Signature of Individual)	- `
(Witness)				_	(Signature of Individual)	-
*****	*****	*****	*****	*****	*************	*
WHEN THE CONTRACTOR IS A SOLE PROPRIETORSHIP OR <u>OPERATES UNDER A TRADE NAME</u> :						
Signed, se	ealed a	nd deliv	ered in the	presence	e of:	
Signed, se	ealed a	nd deliv	vered in the	presence	e of:	
Signed, se	ealed a	nd deliv	ered in the	presence	e of: (Name of Firm)	-
	ealed a	nd deliv	ered in the	presence		- _(SEAL)
	ealed a	nd deliv	ered in the	presence		- _(SEAL)
(Witness)				-	(Name of Firm)	- _(SEAL) *
(Witness) **********************************	*****	****		- ******	(Name of Firm) (Signature of Individual)	- _(SEAL) *
(Witness) (Witness) ********** WHEN TH	******* HE CON	****	*****	- ******	(Name of Firm) (Signature of Individual) ***********************************	- _(SEAL) *
(Witness) **********************************	******* HE CON	****	*****	- ******	(Name of Firm) (Signature of Individual)	- _(SEAL) *
(Witness) (Witness) ********* WHEN TH	******** HE CON	****	*****	- ******	(Name of Firm) (Signature of Individual) RSHIP: (Name of Firm) a Partnership BY:	_ (SEAL) * (SEAL)
(Witness) (Witness) ********** WHEN TH	******** HE CON	****	*****	- ******	(Name of Firm) (Signature of Individual) RSHIP: (Name of Firm) a Partnership	*

WHEN THE CONTRACTOR IS A CORPC	<u>PRATION</u> :
Attest:	
Secretary	
	(Correct Name of Corporation)
В	Y:(SEAL) President
*************	*************
APPROVED AS TO FORM AND LEGAL SUFFICIENCY for the use and reliance of the City of Hollywood, Florida only:	APPROVED AS TO FINANCE:
By_ DOUGLAS R. GONZALES City Attorney	By_CINTYA RAMOS Financial Services Department Director

CERTIFICATE

STATE OF FLORIDA) COUNTY OF BROWARD)

A HEREBY CERTIFY that a meeting of the Board of Directors of, a corporation under the laws of the State of, was held on, 20 and the following resolution was duly passed and adopted:	_
"RESOLVED, thatasPresident of the corporation, be and he is hereby authorized to execute the contracts on behalf of this corporation, and that his execution thereof, attested by the Secretary of the corporation and with corporate seal affixed, shall be the official act and deed of this corporation."	
I further certify that said resolution is now in full force and effect.	
IN WITNESS WHEREOF, I have hereunto set my hand and affixed the official seal of the	
corporation, thisday of, 20 .	
Secretary	_

- END OF SECTION -

Ric-Man Construction Florida, Inc.

SCHEDULE 20

\$51,874,506.00	TOTAL					
\$2,155,890.00	\$49,718,616.00	SUBTOTALS:				
1	\$5,612,853.00	\$6,166,013.00	\$2,079,261.00	\$8,245,274.00	Project # 002486.0434Contract LI-1 Letort Interceptor Rehabilitation Project, Borough Of Carlisle, Cumberland County, PA	18-LIRP Stormdrain & Sanitary Sewer Pipe Lining
	\$10,597,625.00	\$15,066,191.00	\$5,496,953.00	\$20,563,144.00	Water Main Replacement Program Moffett Street to Hollywood Blvd from S. Federal Highway to the intercoastal waterway #14-5122	18-HWWM Water Main Replacement Program
	\$2,723,409.00	\$3,247,181.00	\$500,000.00	\$3,747,181.00	Panama City Beach Sewer Rehabilation Project FY 17/18	17-PCSR Panaama City Sewer Rehabiliation
	\$321,184.00	\$704,900.00	\$116,500.00	\$821,400.00	North Bay Village Stormwater Outfall Rehabilitation Program No. NBV -2017-002	17-NBVR North Bay Village Rehabilitation
	\$18,686,528.00	\$21,428,553.00	\$11,511,723.00	\$32,940,276.00 \$11,511,723.00	Design Build West Ave Improvements Phase II North of 14th Street, Miami Beach	17-KB91 No. West Ave Improvements
	\$7,807,525.00	\$9,034,390.00	\$5,243,723.00	\$14,278,113.00	Design Build West Ave Improvements Phase II South of 14th Street, Miami Beach	17-KB90 So. West Ave
	\$3,640,697.00	\$7,319,719.00	\$1,990,145.00	\$9,309,864.00	DB15-WASD-03 48" Water Main Down Town Loop Cloosure	17-MDLO 48" Watermain
	\$328,795.00	\$657,420.00	\$42,580.00	\$700,000.00	Service Contract CON-PW16-02/GL Lining of Stormwater Drainage Pipe Cape Coral Drainage CIPP Annual	16-FCCD Stormdrain & Sanitary Sewer Pipe Lining
\$2,155,890.00		\$5,180,186.00	\$2,860,353.00	\$8,040,539.00	CMB-KB_52 19th Street Pump station	16-PS52 Pump Station
AS SUBCONTRACTOR	AS PRIME CONTRACTOR	BALANCE OF CONTRACT AMOUNT	AMOUNT SUBLET TO OTHERS	CONTRACT (OR SUBCONTRACT) AMOUNT	OWNER, LOCATION AND DESCRIPTION	CLASS OF WORK
UNCOMPLETED AMOUNT TO BE DONE BY YOU	UNCOMPLETED.				PROJECTS - (Non-DOT)	JOB#
6	5	4	ယ	2	1	





DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION STATE OF FLORIDA

CONSTRUCTION INDUSTRY LICENSING BOARD

THE GENERAL CONTRACTOR HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPITER 489, FEORIDA STATUTES

MANGINE, DANIEL CHRISTOPHER

RIG-MAN CONSTRUCTION-FLORIDA INC 3100 SW-15TH STREET DEERFIELD BEACH FL 33442

ICENSE NUMBER: CGC1514985

EXPIRATION DATE: AUGUST 31, 2020

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.

Business Tax Office 150 NE 2nd Ave.

Deerfield Beach, FL 33441

Phone: (954)480-4333

E-mail: web.btr@deerfield-beach.com

Deerfield Beach Florida

Business Tax Receipt 2018-2019

License Number: 19-00027012

Date Issued: 9/10/2018 **Expires:** 9/30/2019

RIC-MAN CONSTRUCTION FLA. INC

3100 SW 15 ST

Classification:

GENERAL CONTRACTOR'S OFFICE

Business Location: 3100 SW 15 ST

Service(s):

OFFICE: 1 CONTRACTOR

Control Number: 0190750

DEERFIELD BEACH FL 33442 Tax Amount: \$ 58.80

Add. Fees: \$ 229.20 | Penalty: \$ 0.00

Total Amount Paid: \$288.00

Notice: This Tax Receipt becomes NULL and VOID if ownership, business name, or address changed. Business owner must apply to Business Tax Office for Transfer.

Detach and retain for your records

*** Business Tax Receipt *** 2018-2019

- This Business Tax Receipt represents proof of payment of your Business Tax Fee for the period of October 1st to September 30th. Please exercise diligence in maintaining this receipt.
- Once you have obtained a Deerfield Beach Business Tax Receipt, you will be sent a renewal notice each year beginning July 1st, (90 days prior to expiration) to the address listed on the Receipt. Please check all Receipt information and report any errors to us immediately. The City may impose fines and penalties for failure to renew this Receipt.
- Your current Receipt shall be posted so that it is able to be viewed by anyone upon entering your place of business.
- If you change your business name, ownership or location, you must apply for a new Tax Receipt.
- If you have more than one location, you must obtain a Receipt for each location.
- For information on signage regulations, visit the City's website at www.deerfield-beach.com/signage.

Increase traffic to your business by participating in the City's Recycling Rewards Program!

Residents who recycle on a regular basis are accumulating points to be redeemed for rewards at participating businesses to claim discounts and gift certificates. Participating businesses see increased traffic from this program and those that have a commercial recycling account serviced by the City receive additional rewards.

To learn how to have your business become a Rewards Partner, please contact Recycling Perks at infor@recyclingperks.com. For Information on how to set up a commercial recycling account, contact the City's Recycling Division at 954-480-4454.

This Receipt does not represent an endorsement or certification of the business listed herein by the City of Deerfield Beach.

BROWARD COUNTY LOCAL BUSINESS TAX RECEIPT

115 S. Andrews Ave., Rm. A-100, Ft. Lauderdale, FL 33301-1895 - 954-831-4000 VALID OCTOBER 1, 2018 THROUGH SEPTEMBER 30, 2019

 $$\mathsf{DBA}$$: Business Name: RIC MAN CONSTRUCTION FLORIDA INC

Receipt #:180-8980
GENERAL CONTRACTOR (GENERAL Business Type: CONTRACTOR)

Owner Name: DANIEL MANCINI

Business Location: 3100 SW 15 ST

DEERFIELD BEACH

Business Opened:07/21/2009 State/County/Cert/Reg:CGC1514965

Exemption Code:

Business Phone:

Rooms

Seats

Employees

Machines

Professionals

24

		Fo	r Vending Business Only	1		
9	Number of Machin	es:		Vending Type	:	
Tax Amount	Transfer Fee	NSF Fee	Penalty	Prior Years	Collection Cost	Total Paid
81.00	0.00	0.00	0.00	0.00	0.00	81.00

THIS RECEIPT MUST BE POSTED CONSPICUOUSLY IN YOUR PLACE OF BUSINESS

THIS BECOMES A TAX RECEIPT

WHEN VALIDATED

This tax is levied for the privilege of doing business within Broward County and is non-regulatory in nature. You must meet all County and/or Municipality planning and zoning requirements. This Business Tax Receipt must be transferred when the business is sold, business name has changed or you have moved the business location. This receipt does not indicate that the business is legal or that it is in compliance with State or local laws and regulations.

Mailing Address:

DANIEL MANCINI 3100 SW 15 ST

DEERFIELD BEACH, FL

33442

Receipt #1CP-17-00023287 Paid 09/12/2018 81.00 09/11/2018 Effective Date

2018 - 2019

DBE UTILITY SERVICES

COMPLETED VALUE	; 2- Jun-18 \$1.86/IL	IORE. Jun-18 \$77K
DESCRIPTION	TOTAL OF 3 SUBAQUIOUS BORES. 1-2000 LF OF 30" HDPE; 1-2000 LF OG 30" HDPE; 2- 2000 LF OF 12" HDPE ALL VIA DIRECTIONAL BORE.	INSTALL 500 LF 20" DR-11 HDPE CASING UNDER FEC RAIL ROAD VIA DIRECTIONAL BORE. PULL 3 6" HDPE CONDUITS THROUGH 20" CASING
EMAIL	MODTISHORMUNETOWN	MACH TOMGERBEPL.COM
PHONE	954-551-2324	954-940-1450
OWNER REP	DMSI- FABIO ANGARITA 1939 NW 40th Ct. Pompano Beach, FL 33064	JASON EDINGER
OWNER	MIAMI DADE	FPL 700 UNIVERSE BLVD JUNO BEACH FL 33408
PROJECT NAME	PORT OF MIAMI	MONTEREY AND DIXIE STUART FEEDER
DBE NO.	1702	1836U

Qualifications Ric-Man Construction Florida, Inc.

Design Build Services for the Replacement of Water Mains and Service conversions in the Shenandoah Area Phase A

Contract No. W-928

Project Owner: Miami Dade Water and Sewer Department

Project Contact: Nelson Cespedes Nelson.Cespedes@miamidade.gov 305-607-0799

Project Description: Installation of +/- 39,000 LF of Ductile iron Water Main with 1,160 Services and 761 conversions of water services from the rear yard to the front of the properties. Also included in the project was the replacement of 25,600 LF of the gravity sanitary sewer, with +/- 1,160 Sanitary Laterals with project wide restoration and complete mill and overlay of the entire roadway

Government Cut Utility Relocation Project

Project No. S048429

Project Owner: Miami Dade Water and Sewer Department.

Project Contact: George Aguiar George.aguiar@miamidade.gov 786-268-5191

Project Description: This project consisted of Lower the Sanitary Force main that crossed the Government Cut shipping channel for the Port of Miami and also lowering of the water main crossing the shipping channel. The 54" force main was lower by means of Micro tunneling at a depth of -90 to top of casing from Fisher Island to Miami Beach. The water main was lowered by the use of Horizontal Direction Drill (HDD) the HDD was +/- 1,800 LF of 24" HDPE and ran from Fisher Island to the Port of Miami

UAZ 314, 316 & 318 Water and Sewer Improvements

Bid No. Y1200707C1

Project Owner: Broward County Water and Waste Water Services

Project Contact: Pat MacGregor PAMACGREGOR@broward.org 954-831-0904

Project Description: Installation Of Sanitary Sewer, Maintenance Access Structures, Water Main and Services Complete Roadway Restoration Installed Utilities +/- 16,000 LF of Sanitary Sewer, 39,700 LF of Water Main

Qualifications Ric-Man Construction Florida, Inc.

North County Neighborhood Improvements Bid Package # 12

Bid No. Y0763509C1

Project Owner: Broward County Water and Waste Water Services

Project Contact: Pat MacGregor PAMACGREGOR@broward.org 954-831-0904

Project Description: Installation of Water Main with Services Installation of Sanitary Sewer with Maintenance access structures. A new Lift Station with new Force Main, Drainage Improvements, New sidewalks, roadway and landscaping. Installed Utilities 18,000 LF Sanitary Sewer, 19,800 LF of Water Main, 28,000 LF of Reclaimed Water Main and 10,800 LF of Drainage Including a sanitary sewer lift station

This work took place within the City of Pompano Beach Neighborhood a densely populated area

North County Neighborhood Improvements Bid Package # 13

Bid No. Y0838507C1

Project Owner: Broward County Water and Waste Water Services

Project Contact: Pat MacGregor PAMACGREGOR@broward.org 954-831-0904

Project Description: Installation of Water Main with Services Installation of Sanitary Sewer with Maintenance access structures. A new Lift Station with new Force Main, Drainage Improvements, New sidewalks, roadway and landscaping. Installed Utilities 7,100 LF of Drainage, 15,400 LF of Water Main and 21,000 LF of sanitary Sewer. Including a sanitary sewer lift station

This work took place within the City of Pompano Beach Neighborhood a densely populated area

EQUIPMENT LIST

Eqmt #	Description	Equipment Type	Make	Model	Year	Serial Number
A-109	Air Compressor	Gas Compressor	kohler	2475		3707902071
A-110	Air Compressor	Gas Compressor	Rol-Air	2HK28		6041049
A-111	Air Compressor	Gas Compressor	Ingersol Rand	P130DWJD	1992	217001UL8275
A-112	Air Compressor	Gas Compressor	Honda	8422HK30	2010	38RG
A-113	Air Compressor	Diasel Compressor	Sullair	185DPQ-Cat	2005	004-148176
B-113	John Deere 310SG	Backhoe	John Deere	310SG	2005	T0310SG950853
B-115	CAT 420F Backhos	Backhoe	CAT	420F	2013	SKR01500
B-303	Hydrostatic Broom	Broom	Lay-Mor	8HC	2006	31117
B-510	Trench Box	Trench Box	Speed Shore	TSO824DW	2006	62384
B-513	Trench Box	Trench Box	Efficiency	HDHT6-624-22	2011	142626
B-605	Stone Mizer	Rock Box	Efficiency			148165
C-207	Concrete Mixer	Concrete Mixer	Multiquip	MC84SH8	2011	C1151016
C-208	Portable Silo	Portable silo	Mobile Tech	MT-200LP	2011	1C9STD12B1195747
C-156	Rough Terrain Crane	Terrain Crane	Terex Cranes	RT665	2005	13706
D-117	CAT D6	Dozer	CAT	D6M	1999	4JNO1549
D-118	John Deere 650J	Dozer	John Deere	650J	2006	T0650JX120862
E-112	CAT 315 BL Excavator	Excavator	CAT	315BL	1999	3AW01969
E-119	CAT 303.5C CR Excavator	Excavator	CAT	303.5C CR	2006	DMY00345
E-120	CAT 330DL Track Excavator	Excavator	CAT	330DL	2007	CAT0330DHB6H00530
E-124	CAT336EL Excavator	Excevator	CAT	336EL	2014	CAT0338ECJR00409
E-129	CAT308E Mini Excavator	Excavator	CAT	308E	2014	FJX02113
E-130	CAT323FL	Excavator	CAT	323FL	2015	YEJ00292
E-908	CAT Grapple for CAT 318	Accessory	CAT	Attachment	N/A	for the E113 & E108
G-103	CAT Grader	Grader	CAT	1650-H		6NCO7776
G-540	Champion Generator	Generator	Champion	40023	2009	8MAY0602148
G-542	Champion Generator	Generator	Champion	375672	2010	7000 Watts
G-545	SDMO Generator / Generator Trailer	Generator/ Trailer	SDMO/ Dual Axie	R75UC	2006	S-05017457/ 1A9PE14245D524113
G-546	Multiquip Generator 25kVA/20KW	Generator	Kilowatt Boy	SDG25SS	2013	1238810382
G-549	Diesel Stanby Generator	Generator	lsuzu	DCA-25SSIU2	2006	3767280
G-637	Honda 7000W Generator	Generator	Honda	EM7000is	2006	EAHJ-1010531
G-640	Multiquip Generator 125KVA/MQ150kVA	Generator	Kilowatt Boy	DCA125US	2014	7501341
H-502	Jack Hammers	Jack Hammers	Sullair	Sullair	N/A	68253073
H-503	Jack Hammers	Jack Hammers	Sullair	Sullair	N/A	68253072
H-504	Jack Hammers	Jack Hammers	Sullair	Sullair	N/A	30706705
H-523	Hydraulic Power Unit	Hydraulic Power Uni	Stanley	HP28B02	2014	PSTI185672
L-118	CAT 950F LOADER	Loader	CAT	950FII	1997	5SK03361
L-122	CAT 950K Loader	Loader	CAT	950K	2014	R4A02275
L-135	CAT 950H Wheel Loader	Loader	CAT	950H	2008	CAT0950HPK5K01877

EQUIPMENT LIST

		EQUI	PMENIL			
L-136	CAT 930K Wheel Loader	Loader	CAT	930K	2015	RHN04310
L-152	CAT 289C Skit-Steer Loader	Loader	CAT	289C	2009	JMP912
L-201	John Deere 544J Loader	Loader	John Deere	544J	2005	DW544JZ596735
L-202	CAT Skid-Steer Loader	Loader	CAT	252B	2007	SCP04061
L-310	Mitzubishi Fork Lift	Fork Lift	Mitzubishi	FGC25	2003	FGC25AF17C00890
L-315	Mitsubishi Forklift	Fork Lift	Mitsubishi	FG15		AF31B0226
L-316	Scissor Lift	Lift		JLG 26'		200116567
L-319	Clark Forklift	Fork Lift	Clark	CY300		1830D-20-2159
L-502	Cat PC206 Cold Planner	Cold Panner	CAT	PC206	2007	US5888
M-122	Retrieval System	Saftey Equip.	Miller	5YH37	2006	MR60GC/50FT
M-923	John Deere 6" Hydraulic Pump	Hydraulic Pump	John Deere	4039D		T04039D316315
M-924	Yamaha 4 Wheeler	4 Wheeler w/Bed	Yamaha	YXP1000ASL	2005	5Y4JW52Y05A000303
M-927	Pressure Washer	Pressure Washer	Honda		2006	2202850600
VI-928	Asphalt Zipper & Trailer	Asphalt Mill	John Deere	BT0011	2006	109FS08287UO21838
M-929	Trueline Paint Stripper	Paint Sprayer	Trueline	T2000	2009	AE-T2000-5
M-932	Push Bost	Vessel	Marlin Barge		2011	1137441
M-934	Contender Boat (32' 6")	Vessel	Contender	JDJ	2005	JDJ31960D505
M-935	Light Tower (Towable)	Light Towers	Magnum	MLT3060	2011	1113921
M-936	Light Tower (Towable)	Light Towers	Magnum	MLT3060	2011	1114682
VI-937	Light Tower (Towable)	Light Towers	Magnum	MLT3060	2011	1114674
W-938	Open Fisherman (42')	Vessel	Invincible		2013	IVBC0031I213
M-940	Dive Equipment	Dive Equipment	Brownies		2014	
M- 9 43	18 Cool Cat W/ EZ Loader Trailer	Boat/Trailer	33rd Strike GRP / EZ Loader	1F904231D / E2L90B	2015	US-ESGC0018D515/ 1ZEAAEKBXEA014208
P-101	Compactor	Compactor	Wacker	WP1550A	2006	6568003
P-103	Compactor	Compactor	Dynapac	LF90/5.5HP ENG.	2007	29015601
P-105	Compactor	Compactor	Wacker	WP1550		
P-109	Compactor	Compactor	Atlas Copco	LG160	2014	3382000014
2-301	3" Submersible Electric Pump	Submersible Pump	Mody	M 304 T	2006	D70498
P-302	3" Submersible Electric Pump	Submersible Pump	Mody	M 304 T	2006	D70497
-303	3" Submersible Electric Pump	Submersible Pump	Tsurumi	ĺ		
2-304	3" Submersible Electric Pump	Submersible Pump	Mody	M 304 T	2010	D90055
P-305	3" Submersible Electric Pump	Submersible Pump	Mody	M 304 T		D90053
-606	12" Thompson Pump	Wellpoint Pump	Thompson	12R-DJDS-4-4045	2006	V-1108
-607	12"Thompson Pump	Wellpoint Pump	Thompson	12R-DJDS-4-4045	2006	V-1133
-608	Hydrostatic Test Pump	Pump	PRPRO	UAG1050HU	2007	07-02423/3476
-609	6" HYD Power Unit	Submersible Pump	Mersino	F41914/56TC	2006	L4100/6L099
-612	6" Ductile Pump	Pump	Hydra Tech	Setc		
-802	Dewatering Pump	Pump	Godwin	Flygt Model 2201.011	2013	6R936
2-112		Compactor				1220045
R-114	Ingram Roller		Dynapac	LH300		30031566
1-115		Roller	Ingram	12 Ton		578369.EB14
(-110	Ingram Roller	Roller	Ingram	roller, 3 wheel	1988	588662EB14

EQUIPMENT LIST

R-116	Dungana Pallar		MENILI			1
		Roller	Dynapac	CC122	2007	60119200
R-117		Roller	Volvo	DD15	2013	270025
S-302	Broom Tractor	Tractor	Massey Ferguson	461	2005	EP1205909-05-686
S-304	Hydrostatic Broom	Broom	Lay-Mor	8HC	2006	31641
S-700	Gas Cut-Off Cutquik Saw	Gas Saw	Stihi	TS 400 14"	2006	165856988
S-701	Gas Cut-Off Cutquik Saw	Gas Saw	Stihi	TS 400 14"	2006	166663481
S-702	Gas Cut-Off Cutquik Saw	Gas Saw	Stihl	TS 400 14"	2007	166476598
S-704	Gas Cut-Off Cutquik Saw	Gas Saw	Stihl	TS 420 14"	2008	169677037
S-707	Gas Cut-Off Cutquik Saw	Gas Saw	Makita	DPC7311	N/A	512124055
S-708	Gas Cut-Off Cutquik Saw	Gas Saw	Makita	DPC7301	N/A	40265558
T-124	Water Truck	Water Truck	Volvo	Autocar	1987	1WBUDCCH3HU303353
T-131	Tractor	Tractor Trailer	Peterbiit	379	2007	1XP5DBEX87N743111
T-132	Flat Bed	Truck	international	International	1991	1HTSDZ4N7MH355751
T-133	Mack Dump Truck	Dump Truck	Mack	CV713	2007	1M2AG11C87M088088
T-134	Mack Tractor	Tractor	Mack	Granite	2007	1M2AT04Y87M006915
T-135 T-136	Kenworth Vector	Truck	Kenworth	T800	2015	1NKDLPOX3FJ464724
		Vactor	Kenworth	2115	2014	13-10V-14194
T-343	Fuel Tank	Fuel Tank	L&J	Portable Refueler	2006	1L9CK072967292052
T-344	Car Hauler Trailer/7000 capacity		Emerson	Hombre carhauler	2005	1E9AC16215L252078
T-345	Low Boy	Trailer	Trail King	TK110HDG	2007	1TKJO532327B077078
T-355	Trailer	Trailer	Kaufman	7000 Axda/2	2008	5VGFD24288L001950
T-358	Forest River Trailer	Trailer	Forets River	WPT28LK	2008	4X4TWPD238B009995
T-363	Aluminum Trailer	Trailer	All American	P45-3H	2013	1A9BB4538DF714012
T-366	GVWR Air Pintle	Trailer	Kaufman		2014	5VGAP3034EL002336
T-367	Schien Trailer	Trailer	Schien	26SD	1995	159DS2627S1182042
T-370	Stealth Trailer	Trailer	Stealth	LTD 6x12	2015	52LBE1215FE030820
T-372	Car Hauler Trailer	Trailer	Homemade	N/A	N/A	N/A
T-507	Ford F-700	Fuel Truck	Ford	F700	1992	1FDPF70J3NVA04533
T-508	Water Truck	Water Truck	Ford	F750	2007	3FRXF75E67V455448
T-509	Fuel/Lube Truck	Fuel/Lube Truck	Mack	RD688S	2001	1M2P270C81M056513
T-846	GMC 2500 Sierra Pickup	Pickup	GMC	Amaury	2004	1GTHC29U74E138090
T-850	Ford F-150 Pickup White	Pickup	Ford		2005	1FTVF12515NB73443
T-851	Ford F-450 Utility Truck	Flat Bed Mechanic	Ford	Mechanic Truck	2006	1FDXF46P26ED60404
T-859	Chevy Silverado	Pickup	Chevy	Lining	2008	
T-862	GMC Sierra Pickup	Pickup	Sierra	JD	2009	1GTHC44K19E138742

FOUIPMENT LIST

		EGUI	PMENIL	51	100 L	
T-866	GMC Sierra Pickup	Pickup	Sierra	Guillermo	2011	1GT21ZCG4BZ110342
T-867	GMC Sierra Pickup 2500	Pickup	Sierra	Darryl	2012	1GT21ZCG7CZ268949
T-869	GMC Sierra Pickup 1500	Pickup	Sierra	Clyde		1GTR1TEH1EZ217483
T-870	GMC Sierra Pickup 1500	Pickup	Sierra	Dan	2014	1GTR1TEH7EZ204074
T-876	GMC Sierra Pickup 2500	Pickup	Sierra	Brian	2015	1GT21XEGOFZ141742
T-877	GMC Sierra Pickup 2500	Pickup	Sierra	Jeff	2015	1GT11YEG6FF105363
T-880	GMC W3500 Flatbed	Flatbed	GMC		2005	JALC4B16057009147
T-963	BMW 750LI	Sedan	BMW	Christopher	2006	WBAHN83596DT61946
T-970	Acura	Car	Acura	Catrina	2009	JH4CU26689C000508
T-975	Ford F150	Truck	Ford	Roy Dale	2010	1FTEW1E81AFA51921
T-981	Buick Lacrosse	Car	Bulck	Ali	2011	1G4GE5ED5BF326560
T-982	Ford Explorer	SUV	Ford	John	2012	1FMHK8D81CGA04240
7- 98 6	Mercedes E350W	Car	Mercedes	Catalina	2012	WDDHF5KB2CA608538
T-988	Buick Enclave	suv	Buick	Danny	2015	5GAKRBKD1FJ199994
T-991	Ford F350	Truck	Ford	Danny	2013	1FT8W3CTODEA73001
Z-124	Pipe Laser	Laser	Spectr Pre	DG711	2005	7858
Z-823	Gas Detector	Gas Detector	Indus. Scientific	MG140	2006	5HN65
Z-824	Gas Detector Kit	Gas Detector Kit	Indus. Scientific	MG140	2006	1VK73
Z-825	Gas Detector MG140	Gas Detector Kit	Indus. Scientific	MG140	2008	0710126-020
Z-826	Gas Detector MG140	Gas Detector Kit	Indus. Scientific	MG140	2008	0710126-021
				1		L



Daniel LaCross

Bli-Man Construction Florida, Construction Manager

Daniel brings extensive experience in estimating and managing design/build projects in the water and wastewater sector. These projects have included water mains as a well as deep excavations and structures in South Florida for the past 16 years.

Relevant Experience

 Complete understanding of all elements of design/build processes including detailed interface with owners, representatives, engineers and site staff in delivering quality, on time performance in underground utilities, neighborhood rehabs and other infrastructure projects.

Project Experience

UAZ 314, 316 & 318, Broward County Water and Sewer Improvements Broward County, Florida

Removal and replacement of 39,000 LF of water main, valves and appurtenances including over 450 single and double service connections. Restoration included 54,000 LF of paving, sidewalks and over 20,000 SF o driveway, apron restoration, utility relocation, traffic signaling and irrigation system replacement. Dates: 2014-2015

North County Neighborhood Improvement Project Bld Package #13, Broward County Water and Sewer Services

North County, Florida

A complete neighborhood improvement project including the furnishing and installation of 16,0000 LF of water main, 5,000 LF of drainage pipe and 20,000 LF of sanitary sewer pipe. Work included asphalt roadway restoration, driveway replacements, landscaping improvements, new sidewalks, curb and gutter replacement, traffic signalization and miscellaneous utility relocations. Dates: 2010-2012

Neighborhood Improvement Project Bid Package #12

City of Fort Lauderdale, Florida

This project was within a residential neighborhood with a heavy traffic flow. Dewatering of the sanitary sewer using well points. The deepest cut range was 18'-20' for the installation of the sanitary main at the connection to the new wet well. Coordinated resources, equipment needs and means and methods with assigned staff. Dates: 2010-2012

Hillsboro Boulevard Streetscape Improvements, City of Deerfield Beach Deerfield Beach, Florida

Installation of 2,362 LF of 10" water main within State Road 810 under very heavy traffic conditions with the complete rebuilding of the roadway and storm drainage systems. This project took place on State Road 810 which is the major thoroughfare for the City of Deerfield Beach to get residents and visitors to and from the beach access area. Date: 2009-2012

18 Years Experience

EDUCATION:

Bachelor of Science, Accounting, Ferris State University

CERTIFICATIONS:

Competent Person Trained Trench Safety

Confined Space Trained

PROJECT RESPONSIBILITIES:

Construction Manager

CLIENT REFERENCE

Name: Pedro Vigit

Agency: Miami-Dade Water and

Sewer Department

Phone: (786) 395-2106



Project Experience, continued

Dan LaCross

UAZ 207 Lighthouse Point 12" Water main and 16" Force main, Broward County Water and Waste Water Services Lighthouse Point, Florida

This project was within a residential neighborhood with heavy traffic flow. Installation of 4,400 linear feet of 12" water main including a 10" custom fabricated stainless steel bridge crossing. This project also included 4,500 LF of 16" force main with complete restoration of the affected areas. Date: 2012-2012

48-inch Water Main Improvements, Alternate Alignment Phase II

City of Fort Lauderdale, Florida

The project involved the installation of 3,460 LF of owner supplied 48" Ductile Iron water main with 3 air release valves and structures. Due to the depth of the excavation dewatering along the pipeline path was required. Also part of this project was complete roadway restoration including driveways and sales. Date: 2010-2010

Raw Water Main Section B, 041 2821-13/ OTL, Lake Worth Drainage District

City of Boynton Beach, Florida

The installation of a 9,100 LF of 36-inch raw water main was within the Lake Worth Drainage District and included right-of-way (ROW), maintenance of traffic (MOT), dewatering, surface restoration, landscaping, testing including bacteriological tests. Date: 2013-2013

Shenandoah Phase A, Miami-Dade County Water and Sewer Department

Miami-Dade County, Florida

A neighborhood improvement project including the installation of 39,000 LF of water main plus the conversion of over 750 existing water services in downtown Miami. Work includes extensive MOT coordination, milling and re-surfacing the roadway, new curb, gutter and sidewalks; landscaping and general restoration of disturbed areas. Dates: 2015-2016

DB13-WASD-01 /Installation of Gravity Sewer Interceptors for Master Pump Station No. 3

Mlami-Dade County, Florida

With direction from the lead construction firm, construction manager, Daniel is responsible for daily on-site, direct supervision of foreman and labor forces. He schedules equipment and delivery of materials, coordinates subcontractors and is responsible for maintaining the project schedule, quality control and working relationship with owner's representatives and the public in general. He produces estimating schedules and all documentation associated with this project. Dates: 2014-2015

D814 WASD-01 Rehabilitation and Replacement via lining existing PCCP pipe with 63-inch HOPE along NW/NE 159th St. from NW 17th Ave to NE 10 Ave.

Miami-Dade County, Florida

This design/build project includes the installation of shored and unshored insertion and pull pits at multiple locations on public streets and ROW over 14,000 LF of existing Force main along with the grouting of the annular space to lock in the 63-inch lining pipe into the existing, deteriorated 72-inch PCCP. The work requires daily interface with the traveling public, MOT and private property owners. Restoration work includes milling, re-paving, seeding and sodding at all disturbed areas. Coordinates with General Superintendent Jeff Phillips, Superintendent Daie Louk and Foreman Brian Baribeault in daily operations including the proper supply of materials means and methods work plan development, client billings, cost analyses and the management of subcontractors and vendors. Dates: 2015-2016

DB10-WASD-01 ESP Government Cut Utility Relocation Projects

Mlami-Dade, Florida

Assisted the daily planning and execution of work by the Design/Build team including Lead Constructor Ric-Man Construction, Inc. (RCI), Ric-Man Construction Florida, Inc, Lead Designer firm Hazen and Sawyer, P.C., and various subcontractors and subconsultants. Dan interfaced with site staff regularly to ensure materials and support services were provided in accordance with schedule needs. Produced billings, cost analyses and managed subcontractors and suppliers technical and administrative requirements. Coordinated the finalization of the design and assisted in the technical formulation of work plans and procedures. Dates: 2010-2013



Brian Baribeault

Brian is responsible for leading construction crews in the safe and efficient installation of assigned work. Interfaces with inspectors and testing QA/QC staff to ensure project requirements are met. Over 10 years of experience supervising deep excavations, shoring and pipe installation for water, sanitary and drainage projects.

Relevant Experience

- Extensive underground utility experience in urban environments.
- Coordinates daily crew activities
- Manages equipment and resources
- Interacts with owners and inspectors

Project Experience

North County Neighborhood Improvement Project Bid Package #12, Broward County Water and Sewer Services

Broward County, Florida

A complete neighborhood improvement project including the furnishing and installation of 20,0000 LF of water main, 3,000 LF of drainage pipe and 18,000 LF of sanitary sewer pipe. Work included roadway restoration, driveway replacements, landscaping, seeding, sodding, sidewalk replacement and curb and gutter work; traffic signalization miscellaneous utility relocations. Dates: 2010-2012

North County Neighborhood Improvement Project Bid Package #13, Broward County Water and Sewer Services

Broward County, Florida

A complete neighborhood improvement project including the furnishing and installation of 16,0000 LF of water main, 5,000 LF of drainage pipe and 20,000 LF of sanitary sewer pipe. Work included asphalt roadway restoration, driveway replacements, landscaping improvements, new sidewalks, curb and gutter replacement, traffic signalization and miscellaneous utility relocations. Dates: 2010-2012

Hillsboro Boulevard Streetscape Improvements, City of Deerfield Beach Deerfield Beach, Florida

Installation of 2,362 LF of 10" water main within State Road 810 under very heavy traffic conditions with the complete rebuilding of the roadway and storm drainage systems. This project took place on State Road 810 which is the major thoroughfare for the City of Deerfield Beach to get residents and visitors to and from the beach access area. Date: 2009-2012

48" Water Main Improvements

City of Ft Lauderdale, Florida

Alternate Alignment Phase II Installation of 3,640 LF of owner supplied 48" DIP Water Main with 3 ARV Valves and Structures. Coordinated resources, equipment needs and means and

ISD PROJECT DB15-WASD-01

Years Experience

CERTIFICATIONS:

10-Hour Competence-OSHA Compliance

CPR/Medical First Aid

Confined Space Entry

PROJECT RESPONSIBILITIES:

Project Foreman

CLIENT REFERENCE

Name: Jorge Olivero

Agency: Miami-Dade Water and

Sewer Department

Phone: (786) 268-5321



Project Experience, continued

Brian Baribeault

methods with assigned staff (Jeff Phillips, Superintendent and Dan La Cross, Project Manager). Date: 2010-2010

City of Boynton Beach Row Water Main Section B. 041 2821-13/ OTL

Boynton Beach, Florida

The installation of a 9,100 LF of 36-inch raw water main was within the Lake Worth Drainage District and included right-of-way (ROW), maintenance of traffic (MOT), dewatering, surface restoration, landscaping, testing including bacteriological tests. Dates: 2014-2014

Shenandoah Phase A, Miami-Dade County Water and Sewer Department Miami-Dade County. Florida

A neighborhood improvement project including the installation of 39,000 LF of water main plus the conversion of over 750 existing water services in downtown Miami. Work includes extensive MOT coordination, milling and re-surfacing the roadway, new curb, gutter and sidewalks; landscaping and general restoration of disturbed areas. Dates: 2016-2016

DB10-WASD-01 Government Cut Utility Relocation Project (Design/Build), Miami-Dade County Water and Sewer Department Miami-Dade County, Florida

54-Inch Force main and micro-tunnel launched from 90 feet below sea level including the mining of an emergency shaft in South Point Park to a live tap connection at an existing 54-inch main Miami Beach at Alton Road. Dates: 2014-2016

DB13-WASD-01 Installation of Gravity Sewer Interceptors for Master Pump Station No. 3, Milami-Dade County Water and Sewer Department

Miami-Dade County, Florida

With guidance from the Lead Construction Firm Construction Manager, Brian leads Ric-Man Construction Florida, Inc.'s crew during construction of all Open-Cut pipe work on the project and oversees the work of subcontractors. Brian is responsible for managing crews, procurement, implementing means/methods and best safety practices, and maintain project schedule. Dates: 2014-2016

DB14 WASD-01- \$16M Rehabilitation and Replacement via lining existing PCCP pipe with 63 " HOPE along NW/NE 159th St. from NW 17th Ave to NE 10 Avenue

Miami-Dade County, Florida

This Design/Build project includes the installation of shored and un-shored insertion and pull pits at multiple locations on public streets and ROW over 14,000 LF of existing Force main along with the grouting of the annular space to lock in the 63" lining pipe into the existing, deteriorated 72" PCCP. The work requires daily interface with the traveling public, MOT and private property owners. Restoration work includes milling, re-paving, seeding and sodding at all disturbed areas. Coordinates with Engineering staff, Project Manager-Dan La Cross and General SuperIntendent -Jeff Phillips in planning the work to meet schedule and production requirements. Dates: 2015-2016